2A:

SINESES I}

M =% Y2 SXPDIE RE(AEISXI/AEI=S R
ol d& SX8E &4 EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
SXE ML 1,075,451,49%6 978,253,856 97,197,640
= 654,293,987
[ 35,925,681
Jl 761,732
[ 384,470,096
=QX SH2| SXIIEE RE(ARISAI/AtEI X2 et 2,011,304 4,325,280 N2,313,976
= 438,909
L= 1,572,3%
d8 SXaE xd 841,624 3,139,564 A2,298,040
= 150,000
== 691,524
AR SA RN =& 526,831 516,531 10,300
201 Ler23 | 21,900 20,450 1,450
01 At2teltl 21,900 20,450 1,450
OA2ISXIAIE EIt 8,300
OARISASAL HHe flde =29 2,000
OAIZ2ERARE 29¢ 4,100
OAI2I =Xl AR JHE 7,500
202 04l 9,000 9,000
01 =LHAHI 9,000 9,000
OAL2IS A AR JHe 9,000
203 2=l 48,000 40,000 8,000
03 A=A PR FZ| 48,000 40,000 8,000
OASI =X SEAIE = 48,000
307 212+01& 347,001 365,321 8,230
05 2ItRIE = 111,651 108,971 2,680
OLHASEXNXE A2I=X22 AE2E 111,651
11 AMEISXAEEES 235,440 246,350 210,910
OARIS XA 2F1= K& 49,000
OZJEENXE AM2SXSAA UAXR
dEH 28X 71,340
O=HR AlRISXII[2 SA ML= 115,100
308 XXM SOIA 100,840 91,760 9,080
01 AXENBEES 100,840 91,760 9,080
OAIZ AF2IS A2 SAKAF XML& 45,840
OAt2AS AL Sef2dst Xd 25,000
OAtI=IRIE 15 XI& 30,000
ANZELHET K& (HEAY) 14,693 13,247 1,446
301 22N = 14,693 13,247 1,446
0 ARSRFENS 14,693 13,247 1,446
OMIERRY B==(HE) 12,725
OAI =223 SAH| 1,968
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M SXNEHL

M Q% S EXDIE AF(MEIEX/AMEEX L E)

ol d& SX8E &4 EER=E)
SA - B BRA(SH) - HRA - of v G o HIDE2
NBIEHSET XA (ZD) 300,000 400,000 100,000

= 150,000
== 150,000
308 AXIMSOIA 300,000 400,000 100,000
= 150,000
< 150,000
01 MASHHBSEEXS 300,000 400,000 100,000
OARI2E SE+79 XI& 300,000
= 150,000
= 150,000
STAE == 28X 1,169,780 1,185,716 15,936
= 288,909
=S 830,871
ARISEXIAIE 28 =8 757,063 746,531 10,522
307 elztol & 232,800 223,200 9,600
1 AMEISXAEEXS 232,800 223,200 9,600
OLE?l ALRISXIAIE SANL SX=E 232,800
308 AtAIEMSOIE 524,253 523,331 922
01 HAHHBSEEXS 524,253 523,331 922
OAlZ M2IFXIAE SALRE S+ 472,560
OJel2E A DAL XIS 12,000
OARI=XIAIE SALL dolil28 JHHIXIE 39,693
ABISTIAE SAX tHHE X2 (=0)(HE) 412,721 389,185 23,542
= 288,909
[ 123,818
308 AXIHSOIA 412,727 389,185 23,542
= 288,909
= 123,818
183 S| 2SO U ZB4HASAIE 412,721 389,185 23,542
OAM2I=XAIE SALA HMIQE XI& 412,721
= 288,909
= 123,818
SEHATM BHSHAISIER/EBE) 11,675,950 12,898,570 1,222,620
SELAAMY XIS 11,675,950 12,898,570 1,222,620
S2HH A & BEEAMY A 11,540,950 11,276,570 264,380
201 fer= 3| 5,000 9,000 24,000
01 AtR2te|HI 5,000 9,000 24,000
OggIEEI HdSAE 5,000
301 22N = 9,803,640 10,034,800 231,160
02 MBI 2HHSFS(FHAANS, KLHE) 9,803,640 0 9,803,640
OZESEX T FHHU =L X 6,724,080
OZJEEIXE E2Hu=E K& 3,047,760
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A SAE M
M 20| ZMBUR (A= /I ZMEDE)
el MASS NE0 Z30=A &8 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
= 982,080
=S 30,814,709
NasE SEXNE 148,500 211,200 62,700
201 er23 | 3,500 4,000 A500
01 At2teltl 3,500 4,000 A500
OJ = MEBHAIY F& 3,500
202 04dl 5,000 7,200 2,200
01 2L AL 5,000 7,200 A2,200
OJI=dE 2T =& 5,000
301 EetE NS 140,000 200,000 60,000
02 ARI2HHSHS(HAAS, NLHE) 140,000 200,000 260,000
Oxta? 2sX2 140,000
222X X (21) 11,286,000 9,748,125 1,537,875
= 10,032,000
== 1,254,000
301 EtE N = 11,286,000 9,748,125 1,537,875
= 10,032,000
[ 1,254,000
01 Al EE AT S (2 REXR) 11,286,000 9,748,125 1,537,875
o2==X A& 11,286,000
= 10,032,000
= 1,254,000
=0 § SXHAY(==2AME JIsE2)(21) 82,185 52,096 30,089
= 48,345
= 33,840
403 AXIEHHISAH=0I& 82,185 52,096 30,089
= 48,345
== 33,840
01 AXISHHA 22 £ 82,185 52,096 30,089
OL=0Ad JIsE2 X 82,185
= 48,345
< 33,840
=0 S SXXE (=008 29 ) (MEAY 3,318,000 3,171,000 147,000
308 AFAIEHMSOIE 3,318,000 3,171,000 147,000
01 AXEHBEES 3,318,000 3,171,000 147,000
OL=0A4 2 X3 (M) 3,318,000
DSAR Ol 22l A R=(=212) 252,000 208,000 44,000
= 157,500
== 94,500
308 AXIMSOIA 252,000 208,000 44,000
= 157,500
< 94,500

— 422 -




2A:

STIEM
M 20| ZMBUR (A= /I ZMEDE)
o NASE AW S0=K &4 CEREED
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
01 AXEHNBELES 252,000 208,000 44,000
O1U=A fIg= X 252,000
= 157,500
< 94,500
MAS KIR( ) 303,261,628 244,305,000 58,956,628
= 277,869,846
= 25,391,782
301 EtE NS 303,261,628 244,305,000 58,956,628
= 277,869,846
= 25,391,782
01 A EHATZ(ZDEZME) 303,261,628 244,305,000 58,956,628
OdA=N 303,261,628
= 277,869,846
s 25,391,782
wsg0 A2 431,843 405,826 26,017
308 AXIMSOIA 431,843 405,826 26,017
08 WsJI20UetEx 431,843 405,826 26,017
(©ME=s={0] 431,843
HAFMSO XA (=1) 1,992,446 1,699,291 293,155
= 1,850,202
= 142,244
301 2P EN= 1,992,446 1,699,291 293,155
= 1,850,202
=S 142,244
01 A2 HSHS(RRNEERTH) 1,992,446 1,699,291 293,156
O RS0 1,992,446
= 1,850,202
< 142,244
20243 At Zel ML A (2 D)(AZ2) 982,080 1,022,050 A\39,970
[ 982,080
308 XXM SOIA 982,080 1,022,080 A39,970
= 982,080
01 XN B EES 982,080 1,022,080 A39,970
OAlT 2A2S0{22IAF Q12| 982,080
= 982,080
NASRAY 7= & S (AMSISX/ARISRLE 67,697,082 61,429,065 6,268,017
= 44,661,108
[ 16,437,663
= 7,598,311
ANSEEXAEIA AH & S 1,198,903 1,463,187 A264,284
KNS =SXAKS D18t =4 1,064,903 1,307,385 N252,482
201 2= 10,461 10,790 A329
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A SXHBD

Hu: (A=A 2= 2L A

)

= Y A (AESX/ A ST LE
=2 NESXAHIA A & &5 (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2

01 At2teltl 10,461 10,790 A329
OAtSSEAE =8 2,961
O3 LS AN A =8 7,500

202 04| 4,000 5,000 21,000

01 2ULHAH| 4,000 5,000 21,000
OSIY=RIXHAE =8 4,000

307 212+01& 475,084 470,775 4,309

10 Al2IS XA EEE 22X 418,484 409,775 8,709
OLASENXITALRSAE S 29 231,844
oFHZ=EWT 2H 186,640

11 AMEISXAIEEXS 56,600 61,000 A4,400
OZE AMASAss2=d 24 56,600

308 AtXIEMSOIE 420,358 415,820 4,538

01 HAHHBSEXRS 420,358 415,820 4,538
OAlZ AtzI=XE2e 22 265,608
OZC=D 2Y 12,000
OXN A2 ZE M edat 132,750
OSeAtelsA2 2882 28 A2 10,000

403 AXIEHHSAH=Z01d 145,000 405,000 260,000

01 AXISHHA=2 2 145,000 405,000 A.260,000
O AR =X 2 D52 140,000
OFEYW3 J|Is:2 5,000

MBI SSFXIAIY F& 144,000 165,802 A11,802

307 elztol & 144,000 185,802 11,802

1 AMEISXAEEXS 144,000 185,802 11,802
OZESENX A2 SEEZHE 29 144,000

SXABIA ESHA 2835t 4,711,658 4,639,088 72,570
= 784,000
= 2,332,528
== 1,595,130

AZ7 Sgtatedlzel X (=1) 135,000 135,000 0
= 135,000

308 XXM SOIA 135,000 135,000 0
= 135,000

01 HASHHBSEEXS 135,000 135,000 0
OAlZ+ S Atdl2el K& 135,000
[ 135,000

SHs AEE SEMHA XA (22) 1,291,000 1,291,000 0
= 1,291,000

308 XXM SOIA 1,291,000 1,291,000 0
s 1,291,000

01 HAHHBSEXS 1,291,000 1,291,000 0
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2A:

X XH -
o=

SXIEZ L

K= KIAHS
bS

7= 2 A (MIISXI/ At SRIL et
Cl

)

ghelr SXMHIA X 2835 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2

OsSHS XEE SSAHIA XA 1,291,000
= 1,291,000

SEAHIZ2IAL Q1A XI(21) 902,928 948,528 45,600
s 902,928

308 AHAIEMSOIE 902,928 948,528 /45,600
[ 902,928

01 XN BELES 902,928 948,528 245,600
OSSAtIZCIAL Q18] XI&H 902,928
= 902,928

LRASLENXE MEIAHIAR 22(=1) 2,045,000 1,935,720 109,280
= 784,000
== 1,261,000

306 £= 2,045,000 1,935,720 109,280
= 784,000
[ 1,261,000

01 2d= 2,045,000 1,935,720 109,280
OZJASEEIXE ASIMHIANY 2 2,045,000
= 784,000
= 1,261,000

HEASENXT MeABIARE ARXE 334,130 304,440 29,690

306 EG= 334,130 304,440 29,690

01 9= 334,130 304,440 29,690
OHHSEXNXE ARIAHIAZ HAXA 334,130

S&AMHHIO0IM 2g(=21) 3,600 2,400 1,200
= 3,600

308 AtAIEHMSOIE 3,600 2,400 1,200
= 3,600

01 HAHHBAEES 3,600 2,400 1,200
O8I AIHHI0IM 2 3,600
[ 3,600

A2IABIA BIRH AHY =2 15,8%,920 12,269,292 3,627,628
= 85,165
= 13,017,000
S 2,794,755

NAXEs MaIMHIA SEXAIGE (2 D) (RE) 443,409 402,143 41,266
= 310,386
== 133,023

202 04l 3,000 5,000 22,000
= 2,100
== 900

01 =LHOHI 3,000 5,000 A2,000
OXIS A MEIAERIALY =8 3,000
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A =SXEM
3 NA=SKAY 7= L A8 (MSA/ARISXLE)
CHRl: ARRIMHIA HIRH™ ALY =& (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
= 2,100
=S 900
308 AXIMSOIA 440,409 397,143 43,266
= 308,286
< 132,123
18 SIS ZB&HAEAIE 440,409 397,143 43,266
OYASERX T AABI MBI ATIAE 2
s 440,409
[ 308,286
= 132,123
NS MaIMHIA EXAIE (D) (EX) 15,331,847 1,737,839 3,594,008
= 12,706,614
== 2,625,233
308 AHXIEMSOIH 16,331,847 1,737,839 3,594,008
= 12,706,614
< 2,625,233
01 HAHHBSEEXS 15,331,847 1,737,839 3,594,008
OXIHAR MHIAS ALY IR 10,423,078
[ 8,682,034
= 1,741,044
OJtARHY & X3 1,920,487
= 1,605,000
= 315,487
OXN AR MHIAS XA 28H| XIS 34,803
= 29,580
< 5,223
ozdltsAY At XI& 203,479
[ 170,000
= 33,479
ogassSAMHIA X 2,462,000
[ 2,028,000
== 434,000
OF Al X&AAS 288,000
[ 192,000
= 96,000
NETEE MSIMHIA SETAIY & 2R2I2E(22) 121,664 129,310 AT,646
= 85,165
= 36,499
307 glztol & 121,664 129,310 AT,646
= 85,165
s 36,499
02 2B YA E X 121,664 129,310 AT,646
OXIFAIZI MHIA EEARE 2 121,664
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2A:

SXIEZ L

3 NA=SKAY 7= L A8 (MSA/ARISXLE)
SRl AlRIABIA BERX A = (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
= 85,165
=S 36,499
EIFNI= TN PN 45,889,601 43,067,498 2,832,103
= 43,791,943
= 88,135
S 2,009,523
g f XG=K 58 =2 44,064 55,968 A11,904
308 XXM SOIH 44,064 40,968 3.09%6
01 XN BSELES 44,064 40,968 3,09
OXHEAtAIZE2I A =0t BHXI 44,064
X222 A (Z21) 33,548,756 30,999,703 2,549,053
= 31,768,238
S 1,780,518
308 AHRIEMSOIE 33,548,756 30,999,703 2,549,053
= 31,768,238
= 1,780,518
01 RSN EES 33,548,756 30,999,703 2,549,063
OXEZZ ALY 33,548,756
= 31,768,238
= 1,780,518
XSAT&dE 29(=20) 4,359,690 4,161,558 198,132
= 4,359,690
308 AHXIHMS0IA 4,359,690 4,161,558 198,132
= 4,359,690
01 HAHHBSEEXS 4,359,690 4,161,558 198,132
OXS A2 =29 4,359,690
= 4,359,690
ZATEAEH2E(2) (YY) 616,471 603,938 12,533
= 431,530
< 184,941
308 AHAIEMSOIE 616,471 603,938 12,533
= 431,530
= 184,941
13 SI[2SOHe & EAS A 616,471 603,938 12,533
OZ itz 24 616,471
= 431,530
= 184,941
K& Atefl2el(21) 88,135 85,981 2,1%4
= 88,135
308 AHXIHMSO0IA 88,135 85,981 2,14
[ 88,135
01 HXHHBAEES 88,135 85,981 2,14
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A SXHBD

3 NA=SKAY 7= L A8 (MSA/ARISXLE)
telr 2Rz g - At N3 CEREED
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OXt& Atef2tel 83,135
= 88,135
2esdJsrsS M2 (21) 7,232,485 7,150,350 82,135
= 7,232,485
308 AFAIEMSOIE 7,232,485 7,150,350 82,135
= 7,232,485
01 XN BELES 7,232,485 7,150,350 82,135
oZzs=aEUera3AdEr=AE 7,232,485
= 7,232,485
2= 0ts X2 (AEEX/ES - HELHY) 372,174,133 328,905,958 43,268,175
= 236,063,000
= 442,000
=S 135,669, 133
SSAHA HEt 372,174,133 328,905,958 43,268,175
= 236,063,000
[ 442,000
= 135,669, 133
2EIA S8 10,800 10,800 0
201 2egh=3H| 5,400 5,400
01 At2telt] 5,400 5,400
OESTIHAYS 29 5,400
202 04l 5,400 5,400
01 =LHAHI 5,400 5,400
OESAIY =N 5,400
222 RR2RH=s N 925,670 1,175,878 A250,208
308 AtAIEHMSOIE 925,670 1,175,878 A250,208
01 X HHNBAEXS 925,670 1,175,878 A250,208
o2=g RRRE=s & XN&E 925,670
SSEOE0IE XA (HEA) 4,210,968 4,185,635 25,333
308 XXM SOIA 4,210,968 4,185,635 25,333
01 AXN B2 LS 4,210,968 4,185,635 25,333
O33ENE0IE X (He) 4,210,968
SOISEXNSHEH =2 X 95,600 75,600 20,000
308 AXIMSOIA 75,600 75,600 0
01 XN BSELES 75,600 75,600 0
OAlZ SOISEA2ME 248 K& 75,600
402 2I2F X201 & 20,000 0 20,000
01 BIENSASE X (XM THR) 20,000 0 20,000
T S0EEXNEME JIs22 A 20,000
SKOISEXEHE 28 X2 (HEAY) 664,537 638,551 25,986
307 212+01& 619,537 593,551 25,986
10 Al2ISTIAIEEE 22X 619,537 593,551 25,986
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2A:

SINESES I}

M 2% OIS X (AMEIEX/2S - IELHA)
&l EsMHIA 25t (EEREE))
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
T SOISENALE 2 X2 (HE) 619,537
308 RHXISHHISOI& 45,000 45,000
01 XIS B A X2 45,000 45,000
OAZ SOIESXRHE RS N (H
&) 45,000
0{201% D 240K (=21) 72,000 72,000 0
2 36,000
= 36,000
307 QI2H0| & 72,000 72,000 0
= 36,000
= 36,000
TN INCEES 72,000 72,000 0
O02I0IF DY 24D 72,000
= 36,000
= 36,000
O2l0ld YsEH2 X 20, 160 25,200 A5,040
308 KX SHAISOI & 20, 160 25,200 ~5,040
01 HXSHZASES 20,160 25,200 ~5,040
ONMASE Ot YstztIZ X 20,160
O2l0ld ZEsA X 290,000 289,690 310
308 KX SHAISOI & 290,000 289,690 310
01 AXSHZABES 290,000 289,690 310
OOIZI0IE ZXEtat X 290,000
ORI01& &2 XI”(21) 663,000 298,053 364,947
= 442,000
= 221,000
403 RERISHH S XH2O01 & 663,000 298,053 364,947
7 442,000
= 221,000
01 XX SHHXEEX 663,000 208,053 364,947
©0{2I01% AN 663,000
7 442,000
= 221,000
Oglold &&(=1) 772,500 1,211,700 439,200
= 515,000
[ 257,500
403 XX SHHIS K20 & 772,500 1,211,700 439,200
=2 515,000
= 257,500
01 RIXISHH =B X 772,500 1,211,700 439,200
022 o0IX == 772,500
=2 515,000
= 257,500
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2A:
PSRLBECEES
chel:

SINESES I}
Ots X (ALZ
2sAHIA 25t

=XN/25 -

JIELHA)

SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
Oelold W& MRMHL X2 1,280,000 1,351,240 AT1,240
308 XXM SOIA 1,280,000 1,351,240 AT1,240
01 XN B2 LS 1,280,000 1,351,240 AT1,240
OO0Iel0ld XA XM XA 1,280,000
Oi2l0ld SAHA 824 M1 70,680 73,000 N2,320
307 gl2to| & 70,680 73,000 N2,320
11 AMISXAIEEXS 70,680 73,000 2,320
OO0l 2538 M1 A&, us Xd 70,680
dotEs=s NJ(=1) 96,630,205 105,353,588 A\8,723,383
= 77,895,000
= 18,735,205
308 XXM SOIA 96,630,205 105,353,588 A\8,723,383
= 77,895,000
== 18,735,206
01 XN B2 LS 96,630,205 105,353,588 N\8,723,383
ogRritE2s= X 96,630,205
= 77,895,000
< 18,735,205
ARHMIESAMEIA HSXR(21) 1,274,900 930,950 343,950
= 783,000
= 491,900
307 212+01& 46,000 45,000 1,000
= 23,000
S 23,000
10 Al2ISTIAIEEE 22X 46,000 45,000 1,000
OAZH ESMHIA MBI (22l0]12) 46,000
= 23,000
== 23,000
308 AIXIHHISOIA 1,228,900 885,950 342,950
= 760,000
= 468,900
01 HAHHBSEXS 1,228,900 885,950 342,950
OAIRIH E|MHIA HMSXIE(HSI12) 1,228,900
= 760,000
= 468,900
FelE 222 X2 52,298,136 58,971,529 6,673,393
308 XXM SOIH 52,298,136 58,971,529 26,673,393
01 AXHNBELES 52,298,136 58,971,529 26,673,393
O=cltd 252 XN 52,298,136
tEedssg & (=1) 3,075,409 5,772,337 N2,696,928
= 2,475,000
= 600,409
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2A:

SINESES I}

HE: 8BS 015 KR(MEISX/2S - HEU0A)
&elr E|AHA 28t EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
301 EtE NS 3,075,409 5,772,337 A2,696,928
= 2,475,000
== 600,409
01 Al EE A Z2(2RDEXMR) 3,075,409 5,772,337 A2,696,928
oJtgd=s+4 Xd 3,075,409
= 2,475,000
& 600,409
2220 (o) Xd(212) 110,920,784 57,177,334 53,743,450
= 89,280,000
= 21,640,784
301 LEEE S 110,920,784 57,177,334 53,743,450
= 89,280,000
=S 21,640,784
01 AR HSFS(RNEERTHE) 110,920,784 57,177,334 53,743,450
ORL2S0(dot+=g) X 110,920,784
= 89,280,000
& 21,640,784
HIZoHot gtz 255 K& 2,600 2,600 0
308 AtAIEHMSOIE 2,600 2,600
01 HAHHBSEXS 2,600 2,600
2eols gt 258 2,600
SR 1A X (21) 62,781,513 55,825,100 6,956,413
= 42,440,000
=S 20,341,513
308 XXM SOIH 62,781,513 55,825,100 6,956,413
= 42,440,000
< 20,341,513
01 XN BSEES 62,781,513 55,825,100 6,956,413
OEFuWAA 2128 X2 62,781,513
= 42,440,000
& 20,341,513
A HLME XA(=12) 11,192,366 1,227,311 A\34,945
= 7,585,000
= 3,607,366
308 XXM SOIA 11,192,366 1,227,311 A34,945
= 7,585,000
s 3,607,366
01 XN BELES 11,192,366 11,227,311 A\34,945
OEsuAE MM X2 11,192,366
= 7,585,000
[ 3,607,366
ogloly X (=1) 1,354,278 1,384,788 /30,510
= 914,000
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2A:

X ZH -
[

SINESES I}
2= 0ts XN (AEX/ES - HELHYE)

Chel: EFAMHIA 28t (EEREE))
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
< 440,278
308 AtXIEMSOIE 1,354,278 1,384,788 /30,510
= 914,000
= 440,278
01 XN B EES 1,354,278 1,384,788 230,510
oogold X 1,354,278
= 914,000
= 440,278
ooy X018 edXtel X 1,069,200 1,201,200 A132,000
308 XXM SOIA 1,069,200 1,201,200 A132,000
01 XN BELS 1,069,200 1,201,200 132,000
Oo0lglold x5 dXiel X2 1,069,200
BIEAEIA SEE X 527,000 195,000 332,000
308 AXIHSO0IA 8,000 25,000 217,000
01 HASHHBSEXS 8,000 25,000 A17,000
oo0eloly g9as X& 8,000
403 AXIEHHSAH=201H 519,000 170,000 349,000
01 AXIEHM A= 2 £ 519,000 170,000 349,000
SSAME & I SFHA 519,000
o2lold &S SHHotY K& 35,118 35,298 2180
308 XHXIEMSOIE 35,118 36,298 A180
01 XN B2 LS 35,118 36,298 A180
O0el0lE HESH A 35,118
X - A XIR(=22) 20,854,709 20,977,576 A122,867
= 14,140,000
= 6,714,709
307 @I2t0| & 47,074 46,000 1,074
= 23,537
= 23,537
11 AMRISXAEEES 47,074 46,000 1,074
T FOISSXNALE HHLA AFY XIS 47,074
= 23,537
=S 23,537
308 AXIHHSO0IA 20,807,635 20,931,576 123,941
= 14,116,463
< 6,691,172
01 HAHHBSEEXS 20,807,635 20,931,576 A123,941
O - WM A XI& 20,807,635
= 14,116,463
= 6,691,172
A2 EX1 K2 530,000 405,000 125,000
403 THXISHMSAH=01H 530,000 405,000 125,000
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2A:

SINESES I}

HH: B OIS KA (ASISK/ET - ISU0A)
&elr E|AHA 28t EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
01 XX S22 530,000 406,000 125,000
OTNZ 1BUAEAB &3] 250,000
OANZ BHATAZ JIs2Y 280,000
0121018 Sl X 552,000 552,000
308 XXIEHHISOI R 552,000 552,000
Of IXEHBA2ES 552,000 552,000
O0RI01Y 2| S XI¥ 552,000
E4EsE HATSE(ME=T/2S - IEL0IA) 245,520, 113 254,150,691 78,630,578
2 8,173,077
2 19,004,781
| 761,732
< 142,580,523
EVEEE 197,786,777 210,535,644 A12,748,867
2 71,378,331
= 126,408,446
HELE 2 =8 7,740 8,600 860
201 2er2 ] 5,490 6,100 2610
01 AR 22l 5,490 6. 100 £610
ONBNHY 29 5,490
202 048] 2,250 2,500 2250
ETTCT 2,250 2,500 2250
ONBNHH 2% £ 2,250
Sopl=4Y X8 119,406,000 131, 120,000 A11,714,000
301 LB F I 119,406,000 130,900,000 A11,494,000
02 ANEIZEEAFS(HANS, NLHE) 119,406,000 130,900,000 A11,494,000
OS0DI=+Y 119,406,000
S00I24Y 22 X2 30,000 0 30,000
201 2Br2 ] 30,000 30,000
01 AR 22l 30,000 30,000
o0s0DIE4+Y B2 X8 30,000
ols+g 20 X2(=2) 64,717,507 68,284,944 A3,567,437
= 59,475,566
= 5,241,941
301 LB HZ 64,717.507 68,284,944 3,567,437
2 50,475,566
= 5,241,941
I EEEE P EIER EESTE) 64.717.507 68,284,944 3,567,437
O0IS+E 301 X2 64.717.507
2 50,475,566
= 5,241,941
eI EEPETE)) 13,531,000 10,964,000 2,547,000
2 11,883,000
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A SAE M
T BMASN BAXM(MISN/2S - HEAIY
ol MEL HSEH EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
< 1,648,000
301 EtE2 NS 13,531,000 10,984,000 2,547,000
= 11,883,000
= 1,648,000
01 Al E2E AL S(FRNEXH) 13,531,000 10,984,000 2,547,000
oxgtgoled & 13,531,000
= 11,883,000
= 1,648,000
CHAHAOHE SEXIE 25,000 30,000 25,000
301 EtE NS 25,000 30,000 25,000
02 A2 XSG (FHAAHS, NLWE) 25,000 0 25,000
OLHH4IHE S8X& 25,000
NEMSS UERD g4t NH 30,000 68,600 138,600
307 @120l & 30,000 68,600 /38,600
02 QItAMAIEE X 30,000 68,600 /38,600
OZE MEM=5 UEHT gd3t XA 30,000
MEADAALS| CHHl =2IQIADRS XI&(=21) 39,530 39,500 30
= 19,765
= 19,765
307 elztol & 39,530 39,500 30
= 19,765
== 19,765
1 AMEISXAEEES 39,530 39,500 30
OMEN=S Q2 X2 39,530
= 19,765
[ 19,765
OlsSsSAHlA XA 21,831,818 20,897,643 984,175
[ 13,858,970
= 8,022,848
CIEN SS4IH 2124l X (=1) 3,028,500 2,253,075 775,425
= 2,019,000
L= 1,009,500
308 XXM SOIA 3,028,500 2,253,075 775,425
= 2,019,000
== 1,009,500
01 XN BSELES 3,028,500 2,253,075 775,425
OUEN SsHH 28l X2 3,028,500
= 2,019,000
< 1,009,500
Ol SS4IE 224 XIJ&(=21) 459,000 360,000 99,000
[ 306,000
= 153,000
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2A:

=7
M Zp
=
[==)

el OlsEsSAElA II% (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
308 XXM SOl 459,000 360,000 99,000
= 306,000
== 153,000
01 XN BSELES 459,000 360,000 99,000
OotEgN SsSdH =238l N2 459,000
= 306,000
& 163,000
Gl SS4IE EXIHI XI&(=21) 437,500 734,500 297,000
[ 350,000
= 87,500
403 TR SHMSAH=01H 437,500 734,500 297,000
s 350,000
=S 87,500
01 AXISHHA=2 2L 437,500 734,500 297,000
otgN SsdH 4xi8l X2 287,500
= 225,000
[ 62,500
OUEN =3SHH SIC=E =t £Xdl XA 180,000
[ 125,000
= 25,000
CIEN SS4dH 2SAIRF H2E K& (31) 36,460 50,768 115,308
s 23,640
s 11,820
308 AHXIEMSOIH 35,460 50,768 A15,308
= 23,640
= 11,820
01 XIXISHZ A2 XS 35,460 50,768 15,308
OCHENSSHE SYAZ &1F Q12| X
! 26,460
s 17,640
= 8,820
OtisNEsdH 2EAI2 2 24| Xl
& 9,000
= 6,000
== 3,000
Cietl SsSdH 22X 70,000 180,000 A110,000
308 AXIHSOIA 65,000 180,000 A115,000
01 HAEHHBSEEXS 65,000 180,000 115,000
OXgEstAg 29 60,000
ot SsdH 2SI 5,000
403 TR M SAH=01H 5,000 0 5,000
01 AR A =2 £ 5,000 0 5,000
OCIEH SssS4dH JIs:2d K& 5,000
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A SXNEH
M SA2EHE ST (MASA/ES - IFLNE)
s OlsESsSAtlA X (Cre|: & 2)
RA - BE - SHAEH) - HRA - BAS ol &t G o DS
XotsHE 220 XI&(21) 2,377,485 2,398,500 21,015
= 1,584,990
== 792,49%

308 AHXIEMSOIE 2,377,485 2,398,500 21,015
= 1,584,990
< 792,495

01 X HHNBAEXS 2,377,485 2,398,500 21,015
OXS0otsHIE JI222Hl X 2,207,295
[ 1,471,530
== 735,765
OXSotsHE =Jt2gdl N 170,190
s 113,460
=S 56,730

XSotsHlE 2ldHl XI&(=21) 11,894,306 10,339,500 1,554,806
= 7,929,537
& 3,964,769

308 AXIHMSOIA 11,894,306 10,339,500 1,554,806
[ 7,929,537
= 3,964,769

01 XN EES 11,894,306 10,339,500 1,554,806
OXIS0otsHIE 1Al XI& 11,894,306
[ 7,929,537
= 3,964,769

S4Y XYotsHE FIXA(=1) 299,700 330,840 A31,140
= 199,800
[ 99,900

308 AHXIEMSOIH 299,700 330,840 A31,140
[ 199,800
= 99,900

01 HASHHBLEXS 299,700 330,840 A31,140
OS=+==x¢g X& 264,600
[ 176,400
= 88,200
oEx=2d X 35,100
= 23,400
== 11,700

OtsS=SXILAL X (21) 2,088,009 2,576,685 A\488,676
[ 1,392,006
= 696,003

308 AXIHMSOIA 2,088,009 2,576,685 N\488,676
[ 1,392,006
= 696,003

01 XN B EES 2,088,009 2,576,685 A\488,676
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SN ST
M SMUFGH SAXE(ASEX/E2S - Ot
=elr OlsEsSAElA X2 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OXSEOtSHIE Ots=XIWA XA 2,088,009
= 1,392,006
== 696,003
XotsHlE X 29(=20) 179,990 175,000 4,990
[ 53,997
= 125,993
307 21201 & 179,990 175,000 4,990
[ 53,997
= 125,993
10 AlRISTIAIEEE 22X 179,990 175,000 4,990
OXY0tsHH X2 2 179,990
s 53,997
=S 125,993
KIS 0tS HE N 1,004,268 1,029,393 N25,125
308 AHXIEMSOIE 874,768 858,393 16,375
01 HRHHBAEES 874,768 858,393 16,375
OXSotsHE 1A =0t K& 748,522
OXgotsHt 248 It N 54,696
OXISotSHE sadgels N& 71,550
403 AXIEHMSAH=0l 129,500 171,000 241,500
01 XM= 2L 129,500 171,000 241,500
OXIZotsHE Jls2d K& 129,500
NSOISHE SAL WS 7,600 27,600 /20,000
307 gl2to| & 7,600 27,600 /20,000
1 AMEISXAIEEXS 7,600 27,600 /20,000
OXHOISHE SAML W= 7,600
OlsE2sAtblA I 25,851,518 22,717,404 3,134,114
= 11,794,746
= 5,145,811
Jl 761,732
=S 8,149,229
250ts #AsH 5,500 6,500 21,000
201 er23| 3,000 4,500 21,500
01 At2teltl 3,000 4,500 1,500
olts2s gfFa 3,000
202 048l 2,500 2,000 500
01 2L AL 2,500 2,000 500
Oolts=E= g2 2,500
OlSEs dEeY 2F A (=1) 1,387,032 1,358,640 28,392
[ 1,281,568
= 105,464
101 @124H| 66,760 65,200 1,560
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A SXNEH
T BMHSN BATM(ASZN/2S - HEAY
el: Ol sEsAblA X (Cre|: & 2)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
= 53,408
=S 13,352
M ORIMZZE2NSE S 66,760 65,200 1,560
oots2=s dgRe 24 N2 66,760
= 53,408
< 13,352
308 XM SOIE 1,320,272 1,293,440 26,832
[ 1,228,160
= 92,112
01 AXEH B EES 1,320,272 1,293,440 26,832
oots2s MR 24 N 1,320,272
[ 1,228,160
= 92,112
HE delX2de 2€ XY(=1) 185,374 161,870 3,504
= 77,687
< 77,687
307 el2to| & 185,374 151,870 3,504
= 77,687
& 77,687
10 AlRISXAIZEHE 22X 185,374 161,870 3,504
OHE HelXlzdt 24 185,374
= 77,687
= 77,687
Ol Mg 202 2435t AIY(=1) 100,000 100,000 0
= 50,000
s 50,000
307 elztol & 100,000 100,000 0
= 50,000
< 50,000
02 2B YA R E £ 100,000 100,000 0
Oorsstth dgelzola 2daet At 100,000
= 50,000
= 50,000
QESOE 88 2SN (21) 1,340,144 1,461,341 A121,197
= 765,7%6
= 574,348
308 XX HMSO0IA 1,340,144 1,461,341 A121,197
= 765,7%
s 574,348
01 XN BELES 1,340,144 1,461,341 A121,197
oREs0ls 1858 238X& 1,340,144
= 765,7%
< 574,348
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2A: SXEA
M SMRGHE SAXL(MEISX/ES - IIFL0A)
&e: Ot sEsAdlA XI& (Cre|: & 2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmE2
stiimloiols & 24 (=1) 867,625 830,135 37,490
= 495,780
= 371,845

308 AHXIHMSOIH 867,625 830,135 37,490
= 495,780
= 371,845

01 AXESHHBAELS 867,625 830,135 37,490
osttiulaiotsaH 22 867,625
= 495,780
& 371,845

olfsEsdEI |2 2d(=1) 3,778,050 3,754,390 23,660
= 1,889,025
= 1,889,025

307 212+01 A 3,778,050 3,754,390 23,660
= 1,889,025
= 1,889,025

10 Al SXAEHE2EHIEX 3,778,050 3,754,390 23,660
oots:EsdzJ|2 23 3,778,050
= 1,889,025
= 1,889,025

XA ®Mgolgd gix|(=1) 413,280 361,005 52,275
= 330,624
& 82,656

307 212+01 A 413,280 361,005 52,275
= 330,624
= 82,656

10 IS SXAIEHE2ZHIEX 413,280 361,005 52,275
OX& K& &= Hixl 413,280
= 330,624
= 82,656

NEXE AIGHl X&(=1) 608,250 425,385 182,865
= 486,600
& 121,650

307 QIZt01 A 608,250 425,385 182,865
= 486,600
= 121,650

10 IS SXAEHE2ZHIER 608,250 425,385 182,865
OXNEXE AtHH 608,250
= 486,600
& 121,650

ots=x01 29 472,108 430,885 41,223

307 gI2Hol 340,000 336,445 3,555

10 Al S XA EEHE2IHIE X 340,000 336,445 3,555

~ 439 -




A SAE M
T BMHSN BATM(ASZN/2S - HEAY
thel: Ol sEsSAHIA IR (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OOtSAMEXNHAIE 2Y 340,000
308 AXIMSOIA 66,108 94,440 N28,332
01 XN BSEES 66,108 94,440 N28,332
O0a&s 2t =t X& 66,108
402 2I2F X201 & 66,000 66,000
01 QI XHE AL E R (KM THE) 66,000 66,000
OOISXEXNIZAIE Xt I 16,000
OZSsHEINE ek X 20,000
O=SdEIIE =8 e XA 30,000
OlsZAIESAE 23 800,255 838,960 A38,705
307 gl2to| & 800,255 838,960 A38,705
10 Al SXAEEHE 22X 800,255 838,960 A38,705
OOlsSZAIESAIE 29 800,255
OlIsEsdz2J2 23 N 140,000 200,000 60,000
307 @I2to1 & 140,000 200,000 60,000
10 Al2ISTIAEEE2HIEX 140,000 200,000 260,000
O0ts2sdEJ12 2dH| It A& 140,000
gefots d=s X (=1) 749,664 820,800 AT1,136
Il 690,480
== 59,184
301 EtE N = 749,664 820,800 AT1,136
Jl 690,480
< 59,184
01 Al EE AT S (2 RDEER) 749,664 820,800 AT71,136
Ogdlls g+ NE 749,664
Il 690,480
= 59,184
g=g{DI2t 2X XJ(212) 1,59 2,671 1,075
7l 1,470
=S 126
301 EtE NS 1,59% 2,671 1,075
J| 1,470
== 126
01 Al EE A ZS(2REXMR) 1,59% 2,671 1,075
oY=l 24 N 1,596
) 1,470
& 126
g=sls NJ(=1) 9,120 15,200 6,080
Jl 8,400
= 720
301 2eEN= 9,120 15,200 26,080
7l 8,400
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A SXNEH
T BMHSN BATM(ASZN/2S - HEAY
el: Ol sEsAblA X (Cre|: & 2)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
< 720
01 Al EE A S (2 RNEXMA) 9,120 15,200 26,080
ogx=sts & 9,120
Jl 8,400
= 720
gdlg N (21D) 13,239 21,998 A8,759
7 12,194
=S 1,045
301 EtE NS 13,239 21,998 A8,759
J| 12,194
< 1,045
01 Al EE A S (2 DEXHR) 13,239 21,998 A8,759
ogAHIE X 13,239
) 12,194
S 1,045
Zools YLAREXS(21) 53,404 56,924 A3,520
7l 49,188
= 4,216
301 2eEN= 53,404 56,924 A3,520
Jl 49,188
s 4,216
01 A2 HSFS(RNEERTH) 53,404 56,924 A3,520
OO0l HLAFE2LZ AE 53,404
Jl 49,188
< 4,216
A0t H=E X 5,000 5,000 0
307 @I2t01 & 5,000 5,000
11 ARRIS XA E X 5,000 5,000
g I8N 5,000
JHERIE0lS A2 s XIR(=1) 56,581 64,731 A8,150
= 39,607
=S 16,974
307 elztol & 56,581 64,731 A8,150
= 39,607
< 16,974
06 28= 56,581 64,731 A8,150
odiizg=z K& 56,581
= 39,607
S 16,974
g - JiEeEotE AelXlg RIEAY(=21) 28,424 30,096 A1,672
= 26,180
= 2,244
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A SXNEH
T BMHSN BATM(ASZN/2S - HEAY
el: Ol sEsAblA X (Cre|: & 2)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
301 EtE NS 28,424 30,096 A1,672
= 26,180
== 2,244
01 Al EE A2 (2 DEXR) 28,424 30,096 A1,672
2 - g0t aldlXgdl N3 28,424
= 26,180
S 2,244
HBIIERIE MR0lSESH XNJ(=1) 136,800 218,880 /82,080
= 126,000
= 10,800
301 LEIEE S 136,800 218,880 /82,080
= 126,000
=S 10,800
01 A2 EH 2GS (RNEETHE) 136,800 218,880 /82,080
Od2IERE d=20tsE=H| K& 136,800
= 126,000
[ 10,800
Ol=88 ?tl X (=1) 5,000 10,000 /5,000
= 3,500
= 1,500
301 22N = 5,000 10,000 /5,000
= 3,500
= 1,500
01 A2 HSHS(RNEXRTHE) 5,000 10,000 /5,000
ootss= el XA 5,000
= 3,500
== 1,500
getiaolts 25l K& (=1) 27,360 45,600 A 18,240
= 25,200
= 2,160
301 EetE2 NS 27,360 45,600 18,240
= 25,200
= 2,160
01 Al 2E AL S(SREXM) 27,360 45,600 18,240
oY ots B2l X2 27,360
= 25,200
S 2,160
OtSZEXI2AA XN&(21) 5,140,834 2,218,477 2,922,357
= 4,734,979
< 405,855
308 AtXIEMSOIE 5,140,834 2,218,477 2,922,357
= 4,734,979
= 405,855
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A SAE M
T BANASN BATH(ABZX/ES - HEL0IA)
&el: Ol s=2EsAbHlA X (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
01 AXEHNBELES 5,140,834 2,218,477 2,922,357
OotsE XA X 5,140,834
= 4,734,979
< 405,855
CEALE SEA2el(=21) 4,154,062 4,146,886 7,176
[ 3,864,243
= 289,819
308 XM SOIE 4,154,062 4,146,886 7,176
[ 3,864,243
= 289,819
01 RSN EES 4,154,062 4,146,886 7,176
O0ts SgAblA X2 4,154,062
s 3,864,243
== 289,819
2SEI0s Mg XE(=1) 2,802,240 2,689,344 112,8%
= 2,668,800
S 133,440
301 EtE NS 2,802,240 2,689,344 112,896
= 2,668,800
= 133,440
01 Al 2E AL S(FREXME) 2,802,240 2,689,344 112,89%6
OESER0ts Ne+E XH 2,802,240
= 2,668,800
= 133,440
dAEXIS0tE XEXE(21) 49,020 51,718 2,698
= 45,150
[ 3,870
308 AXIHSOIA 49,020 51,718 A2,698
= 45,150
= 3,870
01 X SHHNBAEXS 49,020 51,718 A2,698
OZAERSOtS KNSRI 49,020
= 45,150
= 3,870
orss4 X 1,062,296 1,020,000 42,296
301 EtE NS 1,062,296 1,020,000 42,296
02 MR 2HHSFHS(HAANS, XLHE) 1,062,296 1,020,000 42,296
ogsts Ots=24 1,062,296
250t Moty X2 316,880 358,620 A41,740
301 LEtE N = 316,880 368,620 A41,740
02 MR 2HALFS(HAAS, XNLHE) 316,880 358,620 A41,740
OFS0ts Moty X3 316,880
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-
M SNFSH BIXE(AMB=ER/ES G~
el: Ol sEsAblA X (Cre|: & 2)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
Z2e0|2 29 270,000 270,000
307 elztol & 270,000 270,000
10 Al SXAAEEHE 22X 270,000 270,000
OZ|Ia =Y 270,000
JHEEXNEHEH =2 770,948 706,348 64,600
307 gl2to| & 770,948 706,348 64,600
10 Al SXAZEE 22X 770,948 706,348 64,600
OSSN H 24 770,948
OlsSSHYRl olZet DIsE2(21) 131,432 0 131,432
= 29,818
= 101,614
401 AlEHIZL SO 120,000 0 120,000
= 21,024
== 98,976
01 Al&HI 120,000 0 120,000
oots2sd=)2 JIsEd 120,000
= 21,024
< 98,976
403 AKXt SAH=01d 11,432 0 11,432
= 8,794
= 2,638
01 AXISHHA2EE 11,432 0 11,432
OostiuliotsdlH JIs2d 11,432
= 8,7%
S 2,638
HH2LZHI(SRZD) (OIEHIIE 169,737 163,227 6.510
[ 59,157
= 110,580
J1I=23sl 66,445 61,717 4,728
FA2E J=2EH| 66,445 61,717 4,728
201 =3 43,085 40,963 2,122
01 At22t2ltl 43,085 40,963 2,122
SEN2E A2l 43,085
202 04l 11,780 9,234 2,546
01 =LHN LI 11,780 9,234 2,546
SEAEE UL 11,780
203 HR=AH] 11,580 11,520 60
01 J 22 HR S| 6,600 6,600 0
o=z 6,600
M EASHLRFAH 4,980 4,920 60
©312! 0l&f 4,980
el 2| 103,292 101,510 1,782
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2A: SXEM
M HERHHHI(SXIZD) (OIEHIIE)
el QIEE2E (SH9 M)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIRS2
iy 59,157
T 44,135
23 ACIAN 2Y(=1) 103,292 101,510 1,782
= 59,157
T 44,135
101 2124 d| 103,292 101,510 1,782
= 59,157
= 44,135
03 SRH(RINHS) 22X 2+ 103,292 101,510 1,782
OLlz=¢2telAt 21| 103,292
= 59,157
& 44,135
MNEES(SXH M) (AMSISX]/FHAHSKH) 54,448,495 55,554,477 A1,105,982
LHEHH K= 54,448,495 55,554,477 21,105,982
olzz20II=Z2 XA 54,448,495 55,554,477 21,105,982
701 JIEt2| HISEHES 54,448,495 55,554,477 21,105,982
01 JIEt2I HNEES 54,448,495 55,554,477 A1,105,982
OSz=0IIZEE3H =3 54,448,495
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= THELEE
Bt vt R e A (ol m2)
LA SRAE) - MRAY - BAES of v G o HIDE2
376,266,000 384,718,000 /8,452,000
= 298,381,100
= 77,884,900
ZHESH(ASSX /I ZMEEE) 372,796,021 384,718,000 A11,921,979
= 298,381,100
= 74,414,921
Iz 2S(A=SSHIIS2SELIIA) 372,796,021 384,718,000 211,921,979
= 298,381,100
=S 74,414,921
2220 A= MHIA XIJ(=1) 368,199,595 375,986, 105 AT,786,510
= 294,560,676
== 73,638,919
2ot2 A 780,59 780,595 0
= 624,476
< 156,119
01 AtR2t2|HI 780,5% 780,595 0
AE - A== 780,5%
= 624,476
= 156,119
403 TR M SAH=01H 367,419,000 375,205,510 AT,786,510
= 293,936,200
=S 73,482,800
02 SO 2SOt et =& 2 EF A I 367,419,000 375,205,510 NT7,786,510
dZHl s = 367,419,000
= 293,936,200
< 73,482,800
o RXESHZBAEER(22)(AI2) 4,390,971 4,211,3% 179,575
= 3,715,724
= 675,247
S 4,390,971 3,694,412 696,559
= 3,715,724
= 675,247
01 Al EEATZ2(ZDEZME) 4,390,971 3,694,412 696,559
=20 2Y &s2 98,900
= 83,640
== 15,260
QAHl X FHALRII| FLXH 2,565,039
= 2,172,564
= 392,475
=0 2Y 243 142,920
= 121,020
= 21,900
AZHEF | 1,102,570
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2A:

X XH -
o=

=X H
20| ZME BT

=
2 232230

SIS R DI E M8
EEEE

f)

(=)
g3

el 223000 29 A (SH9 &)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
= 931,860
=S 170,710
OIS S0 AL 481,542
= 406,640
< 74,902
AESNHYSR =&(=1) 205,455 205,730 N275
= 104,700
= 100,755
201 =3 10,000 10,000
01 A2l 6,000 6,000
o230 LY 6,000
03 Ar=EHI 4,000 4,000 0
(O IE=a=1: FEyI VA SESE eSS 4,000
202 04dl 12,230 12,230
01 2L AL 12,230 12,230
o2zguge =X 12,230
308 AtXIEHMSOIE 183,225 183,500 N275
2 104,700
= 78,525
01 AXEH B2 LS 183,225 183,500 A275
odd3dl N 183,225
= 104,700
= 78,525
Gll=l=I1Qe =11 pAv |=[L=]D) 3,469,979 0 3,469,979
oHIEI(QZ2=S0HII=2ZSE3AH) 3,469,979 0 3,469,979
oligigl 3,469,979 0 3,469,979
801 GBI 3,469,979 0 3,469,979
01 Letoldlbl 3,469,979 0 3,469,979
@G| 3,469,979
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